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(THEOREM 1f @ plane intersects two
parallel planes, then the intersection is
o parallel lines.

If 7||r, then AB|| CD.
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(THEORENE) Two lines perpendicular to the
same plane are coplanar

AB L gand CD 1 g means
“AB and CD lic in plane /.

(THEOREN) If  line is perpendicular to a

plane, then any line perpendicular to the

given line at s point of infersection with
the given plane is in the given plane.

If 4B L/ at point B, then
BC L 4B at B and liesin /.

Towo plancs are perpendicular
to cach other if and only if one plane
contains a line perpendicular to the second
plane.

gL 1ifand only if
4B liesing and 4B L 1.

[THEOREM) 1f a line is perpendicular to 2
plane, then every plane containing the line
s perpendicular to the given plane.

If AB L1, theng L1
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(THEOREWS 1f a line is perpendicularto | (THEOREM) Through a given point there
each of two intersecting lines at their | passes one and only one plane

point of intersection, then the line is perpendicular to a given line
perpendicular to the plane determined by

the two intersecting lines.

At point 4 on BC, only BC L 1.

O Atpoint 4 on BC,
161 L 4B and 1 1.CD at theix enly ! L BC.
intersection, then ¢ L 1.
[THEoREM) Through a given point there If two planes are perpendicular
passes one and only one line to the same line, the planes are parallel.
perpendicular to a given plane.

1f 1L DC and/, L DC,

then /|1,




